4 3 ¥ | 1
REVISION HISTORY
ZONE | REV DESCRIPTION DATE APPROVED
A See sheet 4 11/24/08 mcyr
ITEM QTY PART NUMBER DESCRIPTION A-3 B Added Items 50 and 51 12/30/08 mcyr
1 1 GE-09001 Trailer, Top Plate
2 1 GE-09002 Trailer, Base Plate
3 4 GE-09006 Large bumper
4 4 GE-09008 Bracket, Wheel
5 1 GE-09009 Trailer, Tongue
6 1 GE-09015 Trailer, Center Post
7 2 GE-09016 Trailer Conduit 39-3/4"
8 2 GE-09017 Trailer Conduit 38-1/4"
9 2 GE-09018 Trailer Conduit 36-5/8"
10 2 GE-09019 Trailer Conduit 35"
11 2 GE-09020 Trailer Conduit 33-1/2"
12 2 GE-09021 Trailer Conduit 32" . i
13 2 GE-09026 Small Bumper o
14 1 GE-09028 Vision Target
15 2 GE-09030 Vision Target Fabric Jr
16 1 GE-09033 Center Post Mount 1 i
17 1 GE-09034 Mount, Vision Target 2 =
18 3 GE-09035 Bracket, Vision Target
19 1 GE-09036 Hitch, Swivel
20 3 GE-09037 Spacer, Hitch
21 8 HW-00003 Washer, Flat 1/4"
22 18 HW-00012 Hex head bolt 1/4-20 x .750"
23 24 HW-00020 HHCS 1/4-20 x 1" Zinc Plate
24 34 HW-00021 Washer, Fender 1/4" Zinc Plate
25 2 HW-00025 HHCS 3/8-16 x 2.75" Zinc Plate
26 2 HW-00026 Nut, Nylock 3/8-16 Zinc Plate Note:
;g 3 :x_gggg P:imﬁs ;;: 32;56-?;)2 F;'_it/ez.. 1.) Cover all visible surfaces of center pipe with gray gaffers tape after assembly.
29 2 HW-00029 Nut, Nylock 6-32 Zinc Plate DRAWN
30 28 HW-00030 Nut, Nylock 1/4-20 Zinc Plate meyr 11/10/2008 FIRST
31 6 HW-00031 FHCS 1/4-20 x 3/4" Zinc Plated CHECKED 200 Bedford Street, Manchester, NH 03101
32 12 PP-00024 Insulating Bushing 1" e (603) 666-3906 -- FAX (603) 666-3907
33 12 PP-00028 1" Conduit Locknut TOLERANCES: (INCHES) —=TE
34 12 PP-00029 1" Conduit male connector ERAC +/-1/32 .
35 2 PP-00030 2009 FIRST Wheel (p/n AM-210) ' Payload Trailer Assembly
49 2 HW-00011 1/4-20 Wing Nut 00 +/- .01
50 1 HW-00034 HHCS 1/4-20 x 1" Zinc Plate SIZE DWG NO REV
51 1 HW-00035 1/4-20 x 5" Threaded Rod 000 +/- .005 B GE-09000 B
ANGULAR +/-.25Deg.  [SCALE SHEET 1 OF 5
7 3 ¢ 2 | 1




4 | 3 ¥ 2 | 1

REVISION HISTORY
ZONE REV DESCRIPTION DATE APPROVED
A See sheet 4 11/24/08 mcyr
B See sheet 3 & 4 12/30/08 mcyr

DRAWN

meyr 11/10/2008 FIRST

CHECKED
200 Bedford Street, Manchester, NH 03101
(603) 666-3906 -- FAX (603) 666-3907

UNLESS OTHERWISE SPECIFIED

TOLERANCES: (INCHES) TITLE
FRAC. +/-1/32 Payload Trailer Assembly
00 +- .01 SIZE DWG NO REV
@ 000 +/-.005 B GE-09000 B
ANGULAR +/- .25 Deg.  [SCALE SHEET 2 OF 5

4 | 3 4& 2 | 1




1

REVISION HISTORY
ZONE REV DESCRIPTION DATE APPROVED
A See sheet 4 11/24/08 mCyr
A, B-3 B Added 1/4-20 Bolt and nut. Also see sheet 4 12/30/08 mcyr
DRAWN
meyr 11/10/2008 FIRST
CHECKED
200 Bedford Street, Manchester, NH 03101
UNLESS OTHERWISE SPECIFIED (603) 666-3906 -- FAX (603) 666-3907
TOLERANCES: (INCHES) TITLE
FRAC. +/-1/32 Payload Trailer Assembly
.00 +/- .01
SIZE DWG NO REV
.000 +/- .005 B GE-09000 B
ANGULAR +/- .25 Deg.  |SCALE SHEET 3 OF 5

1




REVISION HISTORY

ZONE REV DESCRIPTION DATE APPROVED
A-18&2 A Items 11 & 12 were listed as Item 2 11/24/08 mcyr
B-4 B Added 1/4-20 threaded rod and wing nut. Also see sheet 3 12/30/08 mcyr
B
Note:
1.) Remove all lettering from electrical conduit.
DRAWN
mcyr 11/10/2008
moyr /10/ FIRST A
200 Bedford Street, Manchester, NH 03101
UNLESS OTHERWISE SPECIFIED (603) 666-3906 -- FAX (603) 666-3907
TOLERANCES: (INCHES) TITLE
FRAC. +/-1/32 Payload Trailer Assembly
.00 +/- .01
SIZE DWG NO REV
.000 +/- .005 B GE-09000 B
ANGULAR +/-.25Deg.  |SCALE SHEET 4 OF 5

| 1



1

REVISION HISTORY

"

ZONE REV DESCRIPTION DATE APPROVED
A See sheet 4 11/24/08 mCyr
B See sheet 3 & 4 12/30/08 mcyr
DETAIL B
SCALE 1/2
Note:
1.) Attach vision target to post as shown. Then cover with fabric.
DRAWN
meyr 11/10/2008 FIRST
CHECKED 200 Bedford Street, Manchester, NH 03101
UNLESS OTHERWISE SPECIFIED (603) 666-3906 -- FAX (603) 666-3907
TOLERANCES: (INCHES) TITLE
FRAC. +/-1/32 Payload Trailer Assembly
.00 +/- .01
SI7E DWG NO REV
.000 +/- .005 B GE-09000 B
ANGULAR +/-.25Deg.  |SCALE SHEET 5 OF 5

1




